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EizA2® 777, 363
INCE -G 722,973
EiEAGE 722,973
VEEETE £ 1 136, 080
LUITEE &l 1 50, 850
HRETEE @ 1 45, 750
RRBMARITEE &) 1 50, 850
LA £7% 1 138, 600 |+0
THDEREROAE i 1000 6,435 | +0
EYDOERRROHAE =] 10 14, 300
HER EHERAE GRIR) A 10 200, 200
EIEETE (W) m 1000 26,092 | +0
T ERE R m 1000 6, 435 | +0
T EIRE R R m 1000 8,056 | #fithFxHA
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#H - I - & B HE &4 it Al

TR EEIERL m 1000 39,325 [+0
EEEE 54, 390
HHE = 1 4,954
HWEE = 1 2, 562
RE - ZBE = 1 4,048
BETRRMERE = 1 41,000
HREEEE = 1 1,826
FEAEE 672, 637
ERE 672, 637
ERE = 1 672, 637
B [ il 15,911, 358
EEAGER 14, 609, 651
NG 14, 609, 651
LUTEE CRIES) [l 1 84,500
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hREFTEE CRESN) [ 5 422, 500
BREMRMAFTEE GAESN) E 1 84, 500
EREtEEDER CRIES) % 1 46, 284

REEYMA (BEE) 1’ 5 190, 660 | 70K
REEYMA (BEE) 1’ 14 680, 988 | 70LL 130K
REEMA (BEE) ® 17 1,057, 264 | 130LA 200K
KEEYC (BEE) B 30 993, 720 | 70K
KEEYC (BEE) B’ 4 167,528 | T0LA £ 130K 7
FEREEMA (BEE) ® 1 81,192 | 200K
FEREEYMB (BEE) B 8 519, 104 | 200K
FEREEMC (BEE) ® 6 359, 616 | 200K i
HHREA (BEE) EEFT 4 178, 752 | 100K

A EHKA (BEE) B 1 49, 888 | 5001 L 800K i
MEIED - EFEA (BED F 41 1,111,100 | 150K &
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MHETIED - EEB (BEE) F 7 267, 330 | 150L4_E£ 200K 7
MHETIED - EEC (BERE) F 29 1,520, 006 | 200~600
MiwTEY - RBRA (BEE) F 9 697,014 | 600~1000
MiwTEY - RBRB (BEXE) F 2 205, 908 | 100014 £
WMITHY BEE) E5fzn 13 383,136
MITHEYORE (BEE) Eifzn 4 134,112
IK-AM (BEXE) m 1200 21,416 | 1. 00
IK-FHk (BEE) m 96900 2,475,988 [1.00
IK - IRE (BEE) m 34400 1,085,387 | 1.00
#gE - —KR (BEE) F 19 198,512
BE - EH (BEE) [E & 1 9,790 | 50LL 150K i
E - 2E (BEXE) EEFT 36 184,104 | 50K
BE - 2E (BE®E) EEFT 16 121, 536 | 50LL L 150K i
BE - 2E (BE®E) EEFT 5 63, 550 | 15011 £ 350K i
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B}E - 2E (BEE) EX 1 20, 306 | 3501 £ 600K i
BEHME (BETE) HH 45 1,059, 480
HERE (BEEGL) EEE 5 134, 480
EERE 1,301, 707
HHE X 1 1,022, 663
RE - BE X 1 279, 044
el IR A 7,867, 297
Z D fthR 1 X 1 7,867, 297
—REEES 12, 801, 345
—REEES = 1 12, 801, 345
EZCAlES 38, 030, 000




